Cdd

ROSE+BOPLA

ENCLOSURES

AAAAAAAAAAAAAAAAAAAAA

Aluminum Wateright Enclosures
Product Drawings
Last Updated 6/17/2008

Rose+Bopla Enclosures
7330 Executive Way
Frederick, MD 21704

301-696-9800
www.rose-bopla.com
rbinfo@pm-usa.com

sbuimeiq [euoisuawiqg

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800



Notes

The All-Around Solution



ROSE+BOPLA

ENCLOSURES

Aluminum Watertight 01 Enclosures—Painted

Part Number (Inlgﬁre]sg/g‘m) (Inzxégmm) (Intlr?ég/mm) Weight Dli’r:z]vt;r;tg
0105050300 | 1.97/ 50 | 1.77/ 45 | 1.18/ 30| .15lbs| 17-2
0106060300 | 2.28/ 58 | 252/ 64 | 1.34/ 34| .35lbs| 17-2
0106100300 | 3.86/ 98 | 252/ 64 | 1.34/ 34| .48lbs| 17-3
0106150300 | 5.91/150 | 252/ 64 | 1.34/ 34| .72lbs| 17-3
0106190300 | 7.28/185 | 252/ 64 | 1.34 / 34| .84lbs| 17-4
01080806 00 | 2.95/ 75 | 3.15/ 80 | 224/ 57| .61lbs| 17-4
01081306 00 | 4.92/125 | 3.15/ 80 | 224/ 57| .95lbs| 17-5
01081806 00 | 6.89/175 | 3.15/ 80 | 224/ 57| 1.16lbs| 17-5
0108250500 | 9.84/250 | 3.15/ 80 | 2.05/ 52| 1.56lbs| 17-6
01101008 00 | 3.94/100 | 3.94/100 | 3.19/ 81| 1.32lbs| 17-6
0110160800 | 6.30/160 | 3.94/100 | 3.19/ 81| 1.76lbs| 17-7
01102008 00 | 7.87/200 | 3.94/100 | 3.19/ 81| 2.09lbs| 17-7
0112120800 | 4.80/122 | 472/120 | 3.19/ 81| 2.07lbs| 17-8
0112120900 | 4.80/122 | 472/120 | 3.58/ 91| 2.14lbs| 17-8
01122208 00 | 8.66/220 | 4.72/120 | 3.19/ 81| 3.10lbs| 17-9
0112220900 | 8.66/220 | 4.72/120 | 358/ 91| 3.19lbs| 17-9
0112221200 | 8.66/220 | 4.72/120 | 4.64/118| 4.98lbs| 17-10
01123608 00 |14.17/360 | 4.72/120 | 3.19/ 81| 4.10lbs| 17-10
0114140900 | 5.51/140 | 551/140 | 358/ 91| 3.31lbs| 17-11
0114200900 | 7.87/200 | 5.51/140 | 358/ 91| 4.08lbs| 17-11
0116160900 | 6.30/160 | 6.30/160 | 358/ 91| 3.10lbs| 17-12
01162609 00 | 10.24/260 | 6.30/160 | 358/ 91| 4.32lbs| 17-12
01163609 00 |14.17/360 | 6.30/160 | 358/ 91| 5.62lbs| 17-13
01165609 00 | 22.05/560 | 6.30/160 | 358/ 91| 9.50lbs| 17-13
0118181000 | 7.09/180 | 7.09/180 | 3.98/101| 4.96lbs| 17-14
0118281000 | 7.09/280 | 11.02/180 | 3.98/101| 6.39lbs| 17-14
0123101100 | 9.06/230 | 3.94/100 | 4.33/110| 4.40lbs| 17-15
0123201100 | 7.95/202 | 9.13/232 | 4.37/111| 6.01lbs| 17-15
0123201800 | 7.95/202 | 9.13/232 | 7.12/181| 9.23lbs| 17-16
0123281100 |11.02/280 | 9.06/230 | 4.37/111| 8.461lbs| 17-16
0123331100 |12.99/330 | 9.06/230 | 4.37/111| 9.41lbs| 17-17
0123331800 |12.99/330 | 9.06/230 | 7.12/181| 12.69lbs| 17-17
0123401100 |15.75/400 | 9.06/230 | 4.37/111| 10.73lbs | 17-18
0123402300 |15.75/400 | 9.06/230 | 8.86/225| 16.531bs | 17-18
0123601100 |23.62/600 | 9.06/230 | 4.37/111| 15.27lbs | 17-19
0131401100 |15.91/404 | 12.32/313 | 4.37/111| 1391lbs| 17-19
0131401400 |15.91/404 | 12.32/313 | 555/141| 1477lbs | 17-20
0131401800 |15.91/404 | 12.32/313 | 7.12/181| 17.791bs | 17-20
0131402300 |15.91/404 | 12.32/313 | 8.94/227| 20.191bs | 17-21
01316011 00 |23.62/600 | 12.20/310 | 4.37/111| 20.30lbs | 17-21
0131601800 |23.62/600 | 12.20/310 | 7.12/181| 25.97lbs| 17-23
01606020 00 |23.62/600 | 23.62/600 | 7.95/202 46.29 lbs | 17-22

Note: Dimensions are external. Metric is the primary dimension.
Inch conversions and weights are for the user’s convenience and
are for reference only. Accessories shown on drawing page.

A PHOENIX MECANO COMPANY

APPROVALS:

* File #E206630, Listed UL 50, UL 508

* CSA Approved

* Det Norske Veritas File #8281.1/FERe

* Maritime Register of Shipping #83033.250

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 1-2



Aluminum Watertight 01 Enclosures-Unpainted

Part Number (|n|5ﬁ23:r?m) (|nl'¥'e§fﬂm) (InI;Ir?elg/ir:ltm) Weight DPr:;ve"}#g
0105050385 | 1.97/ 50 | 1.77/ 45 | 1.18/ 30 15lbs | 172
0106060385 | 2.8/ 58 | 252/ 64 | 1.34/ 34 35lbs | 172
0106100385 | 3.86/ 98 | 252/ 64 | 1.34/ 34 48lbs | 173
0106150385 | 5.91/150 | 252/ 64 | 1.34/ 34| 720bs | 17-3
0106190385 | 7.08/185 | 252/ 64 | 1.34/ 34 84lbs | 17-4
0108080685 | 2.95/ 75 | 315/ 80 | 2.24/ 57| 61lbs | 17-4
0108130685 | 4.92/125 | 315/ 80 | 2.24/ 57| 95Ibs | 175
0108180685 | 6.89/175 | 315/ 80 | 2.24/ 57| 1.16lbs | 17-5
0108250585 | 9.84/250 | 315/ 80 | 2.05/ 52| 1.56lbs | 17-6
0110100885 | 3.94/100 | 3.94/100 | 3.19/ 81| 1.321bs | 17-6
0110160885 | 6.30/160 | 3.94/100 | 3.19/ 81 176lbs | 177
0110200885 | 7.87/200 | 3.94/100 | 3.19/ 81 2091bs | 177
0112120885 | 4.80/122 | 472/120 | 3.19/ 81 2071bs | 178
0112120085 | 4.80/122 | 472/120 | 358/ 91 2.141bs | 178
0112220885 | 8.66/220 | 4.72/120 | 3.19/ 81 310lbs | 179
0112220985 | 8.66/220 | 472/120 | 358/ 91 3191bs | 179
0112221285 | 8.66/220 | 472/120 | 464/ 118 4.981bs. | 17-10
01123608 85 | 14.17/360 | 4.72/120 | 3.19/ 81| 410lbs | 17-10
0114140985 | 551/140 | 551/140 | 358/ 91| 331lbs | 17-11
0114200085 | 7.67/200 | 551/140 | 358/ 91| 4.081bs | 17-11
0116160985 | 6.30/160 | 6.30/160 | 358/ 91| 3.100bs | 17-12
0116260985 | 10.24/260 | 6.30/160 | 358/ 91| 4.320bs | 17-12
0116360985 | 14.17/360 | 6.30/160 | 358/ 91| 5621bs | 17-13
0116560985 | 22.05/560 | 6.30/160 | 358/ 91| 9501bs | 17-13
0118181085 | 7.09/180 | 7.09/180 | 3.98/101] 496lbs | 17-14
0118281085 | 7.09/280 | 11.02/180 | 3.98/101] 6391bs | 17-14
0123101185 | 9.06/230 | 394/100 | 4.33/110] 4401bs | 17-15
0123201185 | 7.95/202 | 913/232 | 437/111| 6.01lbs | 17-15
0123201885 | 7.95/202 | 9.13/232 | 7.12/181| 9.231bs | 17-16
0123281185 | 11.02/280 | 9.06/230 | 4.37/111| 8.461bs | 17-16
0123331185 | 12.99/330 | 9.06/230 | 4.37/111| 9.41lbs | 17-17
0123331885 | 12.99/330 | 9.06/230 | 7.12/181| 12.691bs | 17-17
0123401185 | 15.75/400 | 9.06/230 | 4.37/111| 10.731bs | 17-18
0123402385 | 15.75/400 | 9.06/230 | 8.86/225| 16.531bs | 17-18
0123601185 | 23.62/600 | 9.06/230 | 4.37/111| 15.271bs | 17-19
0131401185 | 15.91/404 | 12.32/313 | 437/111] 13911bs | 17-19
0131401485 | 15.91/404 | 12.32/313 | 555/141| 14.771bs | 1720
0131401885 | 15.91/404 | 12.32/313 | 7.12/181| 17.791bs | 1720
0131402385 | 15.91/404 | 12.32/313 | 8.94/227| 20191bs | 17-21
0131601185 | 23.62/600 | 12.20/310 | 4.37/111] 20.301bs | 17-21
0131601885 | 23.62/600 | 12.20/310 | 7.12/181| 2597 bs | 17-23
01606020 85 | 23.62/600 | 23.62/600 | 7.95/202| 46.29bs | 17-22

Note: Dimensions are external. Metric is the primary dimension.
Inch conversions and weights are for the user’s convenience and
are for reference only. Accessories shown on drawing page.

L b = LM
APPROVALS:
* File #£206630, Listed UL 50, UL 508

* CSA Approved

* Det Norske Veritas File #8281.1/FERe

* Maritime Register of Shipping #83033.250

The All-Around Solution



Cdd
ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

Painted or Unpainted Versions:These enclosures are available
in painted and unpainted versions and are designed for applica-
tions where quick mounting in the field is required. The enclosure

Aluminum Watertight 01 Flange

lid does not have to be removed during installation.

The painted version includes a powdercoat painted die-cast
aluminum base and lid, captive stainless steel lid screws, copper
ground screws and a seal. The unpainted version is bare alu-
minum and has a seal.

Silicone or RFI gaskets are available as an option to the

unpainted version.
TECHNICAL DATA:
¢ Color: Powdercoated Version-Silver Gray similar to RAL 7001.
Special colors are available. See paint specifications in - - - _
the Technical Information Chapter. Aluminum Watertight 01 With Integral Flange-Painted
Unpainted Version—-Bare Aluminum. Part Number | - Length Width Height | \eight | Drawing
. . . . - ght
* Material: Aluminum, AL Si 12. See Aluminum specifications (Inches/mm) | (Inches/mm) | (Inches/mm) Page #
in the Technical Information Chapter. 0106120000 | 4.53/115 | 2.52/ 64 | 1.34/ 34 | .501Ibs 17-23
* Gasket Temperature Range: 0106190000 | 7.28/185 | 252/ 64 | 1.34/ 34| 70lbs | 17-24
Neoprene Gasket —40° F to +212° F
Polyurethane Foam Gasket —40° F to +194° F Aluminum Watertight 01 With Integral Flange-Unpainted
Silicone Gasket —76° F to +266° F Length | Width Height ; Drawing
RF| Gasket —40° Fto +392° F Part Number (Inchesgmm) (Inches/mm) (Incheg/mm) Weight Page #
* Impact Resistance: >7Nm, EN50014 0106120085 | 4.53/115 | 2.52/ 64 | 1.34/ 34 | 50lbs | 17-23
* Approvals: 0106190085 | 7.28/185 | 2.52/ 64 | 1.34/ 34 | .70lbs | 17-24
File # E206630, UL 50, UL 508 Note: Dimensions are external. Metric is the primary dimension.
CSA approved Inch conversions and weights are for the user’s convenience and

« Captive Stainless Steel Lid Screws. are for reference only. Accessories shown on drawing page.

* Internal mounting plates are not available for this enclosure.
* Protection Classifications:

NEMA Types: Up to NEMA 4X

IP 66, EN 60529

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 1-6



Aluminum Watertight

01050503 00/85 External Dimensio

Standard Features

* 10093132 00 M4x20 Stainless steel captive combo
head lid screws. Lid 50/49.5*
10093116 00 M4x7 Copper ground screws. 42/41.5% * = Conical form tapering downwards
28/27.6* 11.2 Free dimensions-tolerance to GTA 13/5 DIN 1688

10.76

Accessories

10093296 00 Safety lid screws.
+ 10093091 00 Allen head lid screws.

45/44,6%
37/36.6*

Cylinder screw
M4x20/7 (2x)
similar to DIN 84

0]
50/49*  aa
30 (total height)
& 24
o)
N .
1 -
3 : a3 | Top
© 3|89 froSbeee-p SR @ ® H=--— 5 ® <
10 | B | (o) k) o
< < | N o d
7 b ! L < b
| e 9
I 7 ] ErEIIg
Ma 7.9 ' 5 {IL
31/30° 9.75 3 25 2
45/44~ {max. fitting height)
Base

01060603 00/85 External Dimensions: L 58 x W 64 x H 34 mm Page 1-3,5

Standard Features

10093132 00 M4x20 Stainless steel captive combo

. Lid 58/57.3*
head lid screws. 28.2/47 5 * = Conical form tapering downwards
* 10093116 00 M4x7 Copper ground screws. - - Free dimensions-tolerance to GTA 13/5 DIN 1688
) 31.1/30.4* 13.2
- [
7 + Y
zw 1 @
]
Accessories e e l— '
LI ~
+ 10093296 00 Safety Lid Screws. SNINIEN X
+10093091 00 Allen head lid screws. i< . Cylinder screw
O g : M4x20/7
] ‘:ﬁ ! rF similar to DIN 84
A z )
58/57* - 34 (total height)
46 &3
M4 26.5 2% 8
18 0l al o~
\ g y
3 2
]
1
!
| - 1 ‘
5 | Al ale
r
©2yg ft-s0-1-06-—-ft J2A2® © - - <« ®
> : || R
L R 185
I
]
p ' parrrzrry
9.4 | | e
34.7/34* 28.5
51.8/50.5 " (max. fitting height)
Base -

17-2 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

01061003 00/85

External Dimensions: L 98 x W 64 x H 34 mm

Standard Features

* 10093132 00 M4x20 Stainless steel captive combo

head lid screws. Lid 98/97.5" * = Conical form tapering downwards
. .. . * N
10093116 00 M4x7 Copper ground screws. © 88.2/87.5 Free dimensions-tolerance to GTA 13/5 DIN 1683
o 71.1/70.4+ 132
I . T
=) '
% [ i i
- YA i
Accessories |8 | i
0N o e mm == md e —m - —m -
TS '
* 10093296 00 Safety Lid Screws. o3 ; ' Cylinder screw
* 10093091 00 Allen head lid screws. ~ L \ ( M4x20/7
10061001 00 Terminal rail (TS 15). = : foj similar to DIN 84
' ® 98/97 -
gG - 34 (total height)
78 ey
M4 37.8 @
32 m. S
. e g
!J |
+
3 J) I JX) J 8 % |
| |
©§ 3 -~~0<9<a—1|—7 —-o ‘,S§ ® ® L4
[le] I ,? ol
' .5 —1915 B|
: \K‘G - Lol e -
b . /4
18 9.4 ||~ 14 J)
74.7//74’ & 3 28.5
91.8/90.5* {max. fitting height)
Base -—

01061503 00/85

External Dimensions: L 1

xW 64 x H34 mm

Page 1-3,5

Standard Features

+10093132 00 M4x20 Stainless steel captive combo Lid 150/149.3* - -
head lid screws. ! 140.2/139.5% i * = Conical form tapering downwards \l
* 10093116 00 M4x7 Copper ground screws. hi d Free dimensions-tolerance to GTA 13/5 DIN 1688
«Q 123.1/122.4% 13.0
= |
YA = =
) ' N
PR - 4 i
. * M) % 1
Accessories RIIRA !
M| ! e __Iu
BN O e T EE
+ 10093296 00 Safety Lid screws N> i Cylinder screw
10093091 00 Allen Head Lid screws ol ! MAx2077
10061002 00 Terminal Rail (TS 15) Ny | K i ﬁp similar to DIN 84
¢
x
@ 150/14¢ > 34 (total height)
138
130 &>
o
M4 102.6 s
\ 856.3 © o~
Q| @
P L - 3
i :
' * ’
P:J ¢ [ 9 (‘\l g i
©® 9|3 b hgbb--off 2@ © | < ®
< 1 Q% «©l ~(®
© . & o 9
1 |0 s
) @i} ’
< )
72.5 9.4 _XQG 14 e
126.7/126* 3 28.5 |
143.8/142.6* (max. fitting height)
Base

-t-.

a Jeuoisuawig

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-3



Aluminum Watertight

01061903 00/85 External Dimensions: L 185 x W 64 x H 34 mm Page 1-3,5

Standard Features

185.5/184.5* .
176/174.5* * = Conical form tapering downwards T
= 88

* 10093132 00 M4x20 Stainless steel captive combo L|d
head lid screws.

Free dimensions-tolerance to GTA 13/5DIN 16
+10093116 00 M4x7 Copper ground screws. o 158.8/157.3* 13.6 ‘
<
hl - I | N
fa ¥ :N{»)
) | b
e i
N ;
Accessories M S ! o
D A SN T 1 I
+ 10093296 00 Safety Lid screws. o[ F |3 \ Cylinder screw
* 10093091 00 Allen head lid screws. a2 ' : f M4)_<20/7
10061010 00 Terminal rail (TS 15). N ' @ similar to DIN 84
\\)\
L ]

®18s5.5/184.5¢ !

34.5 (total height)

173.5
165.5 . “
M4 102.6 265 % s
\ 85.3 ~ o |8 >
- b S
' S 74 S §
. ' Nl
X '2 | . b TOp@
e e i AR = S B
0|~ ! © o )
B | - o s B
| 5| =
: Z/
72.5 g 14
160.5 9.4 3 29 [l 256
179.3/178* (max. fitting height)
Base -

01080806 00/85 External Dimensions: L 75 x W 80 x H 57 mm Page 1-3,5

Standard Features

+ 10093132 00 M4x20 Stainless steel captive combo Lid 75/74 * = Conical form tapering downwards
head lid screws. 63/61.64 Free dimensions-tolerance to GTA 13/5 DIN 1688
* 10093116 00 M4x7 Copper ground screws. 46/44 6% 15
\
fa¥r '\\\
] ]
"/ N E
- *
Accessories &lely i 232 /
Blelg] f-- -
10093296 00 Safety lid screws. % B B i
+10093091 00 Allen head lid screws. ©f g i i
* 10052033 00 External Brackets. h . ! ((j Cylinder screw
N =N 1 Max20/7
* 10089103 00 Mounting Plate. O o) similar to DIN 84
+ 10061003 00 Terminal rail (TS 15). ™ 27.6/46" N
® 57 (total height)
75/73.5 o 47 15
M4 63 10 s
56 X 0.5 3
[+2]
L=
w : = ey Eg
L 3 T e rr T
I
© b ¥ I bl A [ : Top
O o ! ~1O S|
~ e it ) - - -] -
399 1 I[e © ® <
o . | ©iN
'e] ®, : ° © ~
1 9 b o -
b | [f‘ 8 =
47/46.5* \%\ 9
67/65.5% 3 51 2.5
Base bl {max. fitting height)

17-4 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

01081306 00/85 External Dimensions: L 125 x W 80 x H 57 mm Page 1-3,5

Standard Features

+10093132 00 M4x20 Stainless steel captive combo Lid 125/124+ * = Conical form tapering downwards
head lid screws. 113/111.6% ’;ree dimensions-tolerance to GTA 13/5 DIN 1688
* 10093116 00 M4x7 Copper ground screws. 96//94.6* 15

L
72

R
\2
3.2 /

* *
Accessories Y e
~[lw M |
S8
* 10093091 00 Allen head lid screws. 8 0| «© i
* 10052033 00 External Brackets. Ol i 7 Cylinder screw
* 10061004 00 Terminal rail (TS 15). ~ N ! (K] MAx20/7
10089104 00 Mounting Plate @ F ) similar to DIN 84
l_ 97.6/96* 14
® &7 (total height)
125/123.5 - 15
M4 113 5
—\ 106 0.5 3
o]
L=3
£y o
- . x Tx <0 ™
re} <] i T <o 2 T
@ N ! r ~|o 3 op
© Blyq e e SR © t0<
14 < 1 w|N
0 | ° oo ~
@[ : AJ h ) -
b ! 7z © =
97/96.6% o [N
117/115.5*% 3 51 |25
Base o (max. fitting height)

01081806 00/85 External Dimensions: L 175 x W 80 x H 57 mm Page 1-3,5

Standard Features

+ 10093132 00 M4x20 Stainless steel captive combo Lid 175/174* — - -
head lid screws. 163/161.6* ;r;ec Zir:;?ri;zrnr:tt:ﬁi;l:gec:gvg']rvAva;g/Ss DIN 1688
10093116 00 M4x7 Copper ground screws. 146/ 144.6% 15
7 é : 5
=) ' 5B
= ! \2 Il —
. * * ]
Accessories 3 2 S | 932
Q&o < e
* 10093091 00 Allen head lid screws. 3 :3 } | .
+ 10052033 00 External Brackets. ©| g ! Cylinder screw
+ 10061003 00Terminal rail (TS 15). ~e ! KKF] M4x20/7
+ 10089105 00 Mounting Plate. B o) similar to DIN 84
| 147.8/146.2*
® 57 {total height)
175/173.5* - | Y 15
M4 163 10 &)
156 0.5 s
|_ @
— s
& 7 d S
3 : 3 s
© o 3 I M "g 3 Top
Dl Mgl el TR ® I -
N K IR0 o © <
[=) 1 ol
o <, : ® 3 ~
] A M)
B ! ©
147/146.5% & }
o 167/168.5+ 3 51 .25
' max. fitting height
Base ® - ¢ 9 height

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-5

a Jeuoisuawig

sbuimel



Aluminum Watertight

01082505 00/85 External Dimensions: L 250 x W 80 x H 52 mm Page 1-3,5
Standard Features
* 10093132 00 M4x20 Stainless steel captive combo . "
head lid screws. Lid 250/2494 * = Conical form tapering downwards
+ 10093116 00 M4x7 Copper ground screws. 238/237 Free dimensions-tolerance to GTA 13/5 DIN 1688
2217220+ 15
i \
() 1 \ﬁa-_r\r
- : -+ : Pl
ccessor « & /
cessories ,Cf é g E 03.2
10093091 00 Allen head i sorews, Sl W~y T T Cylinder screw
+10052033 00 External Brackets. ©|© ‘j " M4x20/7
+ 10061006 00Terminal rail (TS 15). - \ (@ similar to DIN 84 —,
1
A\ [e]
222.6/221.6*
/ ‘JJ 52 (total height)
® 2650/248.5+ - 0 __ % 12
M4 238 10 E
230 ol »
o ©
Gl S
% o e
+* ] ) * [%
0 ] N Bt Top
RN | ' SR I ——— O G} R X E® <
~ ) 1 SIS
Q 1 w WiN
I \ - o™ 9|
! <
d : fa
9.5 \\43 15,5 ||
226.6/225.4 4 45 3
242/2405 (max. fitting height)
Base b

01101008 00/85 External Dimensions: L 100 x W 100 x H 81 mm Page 1-3,5

Standard Features

. -«
+ 10093133 00 M4x24 Stainless steel captive combo |_|d 100/99 * = Conical T mad g
head lid screws. 88/87* = Conical form tapering downwards
+ 10093116 00 M4x7 Copper ground screws. 70,/69* 9 Free dimensions-tolerance to GTA 13/5 DIN 1688
)
Ydg . N
9) ! o ;3
1
1

Accessories

50/49*
1
1
I
1
s 1
3
o ]
s
:

100,90+
88/87+

1

]
+ 10093092 00 Allen head lid screws. L ) Cylinder screw
10052033 00 External Brackets. I qm : (FS Max24/7
*10061007 00 Terminal rail (TS 15). i T o, similar to DIN 84
*10052101 00 External Hinges.
*10011024 00 Mounting Plate.

® - 81 (total height)
100/98+* 51
86 o .
\ 80 | 4 &
| I S
1 , S
4 e
& ! * e
© o Top
o N_M4 1 S
CREER NS R0 I I
e ; o @)
w0 g
: Py rrrrrrrs
71/70* 95 10
92/90% 74 (max. fitting height) 3

Base

17-6 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

01101608 External Dimensions: L 160 x W 100 x H 81 mm Page 1-3,5

Standard Features
* 10093133 00 M4x24 Stainless steel captive combo

head lid screws. * = Conical form tapering downwards
* 10093116 00 M4x7 Copper ground screws. Lid 160/ 159* Free dimensions-tolerance to GTA 13/5 DIN 1688
148/146*
130/128* 9
. .
Accessories ;J ! @ a
I
1
1

* 10052033 00 External Brackets.
* 10061008 00 Terminal rail (TS 15).
* 10052101 00 External hinges. Cylinder screw

|
1
* 10011025 00 Mounting Plate. -ﬁm E ([o M4x24/7
0)
T

* 10093092 00 Allen head lid screw. ot similar to DIN 84

50/48*
1
1
]
1
1
1
1
1
1
1
:
e ¢
y
L
1
J
T

106,/09*
88,/86*

@ E 81 (total height)
1
160/158* | 61
146 9 X
140 . il <
[ \ 1. g
I S
[ =S R N o = Srey=r
)
* 1 % * T
Vs o) Op
I3 M4 ! PR
© S8 et ----- - Sl o f----- — 1+ 0 <
o ! 3|
— 1 o
: _______
131/130 \@ 9.5 10
1562,/150* 3 74 (max. fitting height) 3
o
Base
01102008 00/85 External Dimensions: L 200 x W 100 x H 81 mm Page 1-3,5
Standard Features
10093133 00 M4x24 Stainless steel captive combo
head lid screws.
10093116 00 M4x7 Copper ground screws. * = Conical form tapering downwards
Lid 200/199* Free dimensions-tolerance to GTA 13/5 DIN 1688
188/186*
170/168* 9
Accessories ;
* * * :
* 10052033 00 External Brackets. 3 S1% .
10061009 00 Terminal rail (TS 15). é B B """""" [
10052101 00 External hinges. S0 |Dd : Cylinder screw
10011026 00 Mounting Plate. [s) : M4x24/7
10093029 00 Allen head lid screw. N T similar to DIN 84
® - B1 (total height)
200/198* | 61
186 S
i_ 180 14
L
1
* : f T
5 x 1+ op
M4 i a NIOo
©3£$E~----------: --------- SR @ I TO=<
8 | i [)
— o 1 of{ Py
N - I . L EEEEE
| 171/170% ] \@\ 95 0}
192/190~ 3 74 (max. fitting height) 3
Base -

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-7

a Jeuoisuawig

sbuimel



Aluminum Watertight

01121208 00/85 External Dimensions: L 122 x W 120 x H 81 mm Page 1-3,5

Standard Features
* 10093134 00 M6x25 Stainless steel captive combo )
head lid screws. Lid 122/121* * = Conical form tapering downwards
+10093117 00 6x10 Copper ground screws. 108/106.5+ Free dimensions-tolerance to GTA 13/5 DIN 1688
85/83.5*
rd : PN
) i &? )
Accessories « |5 i el ™
o2} < Le] I
cl|oja ol eas/ I
« 10052034 00 External Brackels. SIS ; Cylinder screw
10093263 00 Allen head lid screws. NI8is i M6x25/10
* 10061401 00 Terminal rail (TS 32). - i ( similar to DIN 84
10061421 00 Terminal rail (TS 35). - ' J?
+ 10052101 00 External hinges. ~ ¥
10050401 00 Grounding Strip. .
10089151 00 Mounting Plate. ® 81 {total height)
122/120% ™ 61 20
106 20
95 1
1
£ ! i
1
* ) - P~
© N ( o N s Top
= N\ M6 L (RS b o
© S| o PSR @ A yo<
[=) Ty s 55
o . : Oz >
' » -
1 A=
3 I b
a5/84* 13 ) 15
113/111% 4 72 4
T — "
- {max. fitting height)
Base

01121209 00/85 External Dimensions: L 122 x W 120 x H 91 mm Page 1-3,5
Standard Features .
. ) Lid 122/121* * = Conical form tapering downwards
.;003?.:136 00 MEx25 Stainless steel captive combo 108,/106.5* Free dimensions-tolerance to GTA 13/5 DIN 1688
ead lid screws.
+ 10093117 00 M6x10 Copper ground screws. 85/83.5*
raz l \t's\
[
J W W
5|25 o
Accessories =|3is | 949 /
Slele| -
i [e) ; ~ : Cylinder screw
ot et A2z :
. X . — Vin?
+ 10052101 00 External hinges. j ' @ similar to DIN 84
+ 10061401 00 Terminal rail (TS 32). &t

* 10061421 00 Terminal rail (TS 35). '
10050401 00 Grounding Strip.

+10089151 00 Mounting Plate. - 91 (total height)
122/120% )
106
95 1
' E
1 ©
* 1 * I~
© ] M| EAE=) s 5 To
pasi g ! r bt 4 o]
© I3 Eahd ety Q| @ ® J--—- 40 L O <
(=) [T ] B
& ) Clp= =~
| s
b ]
85/84+ % 13 ' A
13/111% 4 82 4
- (max. fitting height)
Base

17-8 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

01122208 00/85

Standard Features

* 10093134 00 M6x25 Stainless steel captive combo
head lid screws.
+10093117 00 M6x10 Copper ground screws.

Accessories

* 10052034 00 External Brackets.
10061402 00 Terminal rail (TS 32).
* 10061422 00 Terminal rail (TS 35).
10052101 00 External hinges.

* 10050402 00 Grounding Strip.

* 10089152 00 Mounting Plate.
10093263 00 Allen head lid screws.

External Dimensions: L 220 x W 120 x H 81 mm Page 1-3,5
Lid 220/219* * = Conical form tapering downwards
206/204.3* Free dimensions-tolerance to GTA 13/5 DIN 1688
. 183/181.3*
3 = =
1
AR : 9 o
YIRS W : \p
213|a . a9/
1218 4H---- - -
3 B > : Cylinder screw
No|wy |l . M6x25/10
Qn ! ﬁ@ similar to DIN 84
S . O,
=~ T
® 81 (total height)
220/218* - 61 20
204 20
193 1.
i L
3 S e
1
; 22722
n ; M ~ . T
®© 1 bl |- = s rsd op
e 5 i I3 hd k=] d
CRSE LR L — e ® fl--42 {0
S . : e 3
; s
o L
183/182* ' 13 15
211/209* 4 72 4
T 1yt . N
L {max. fitting height)
Base

01122209 00/85

External Dimensions: L 220 x W 120 x H 91 mm

Page 1-3,5

Standard Features

+10093136 00 M6x35 Stainless steel captive combo Lid 220/219* = = Conical form tapering downwards
':‘Zaogé'$1s7‘5:)e(]""’aéx10 Conper around serews 206 /204.5* Free dimensions-tolerance to GTA 13/5 DIN 168EJ
Pperg : 183/181.5%
fa¥7: AP
| 3 o
Accessories > f o | 7
oo | 24 9
Sl @l i e
* 10093262 00 Allen head lid screws. Qleo > | Cylinder screw
+ 10052034 00 External Brackets. —|e|e . M6x35/10
+10061402 00 Terminal rail (TS 32). DD : (( similar to DIN 84 —
+10061422 00 Terminal rail (TS 35). < [©)
*10052101 00 External hinges. .
+ 10050402 00 Grounding Strip. X
+ 10089152 00 Mounting Plate. 91 (total height)
220/218% - &1
204 20
193 1
1
! }? ez
!
* i * [y D
o ) bl [} X -
< i S ] Q Top ¥
< Ll 0 0% 3
& [ wllel= i > a
: ]@ —s )
1 p :
: . =
183/182* 13 15 E
211/209* 4 82 4 N
— (max. fitting height)
Base §
Q
(7
For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-9



Aluminum Watertight

01122212 00/85

External Dimensions: L 220 xW 120 x H 118 mm

Page 1-3,5

Standard Features

10093136 00 M6x35 Stainless steel captive combo
head lid screws.

Accessories

10093161 00 Safety Lid Screws.
10093262 00 Allen head lid screws.
* 10052034 00 External Brackets.

* 10061402 00 Terminal rail (TS 32).
* 10061422 00 Terminal rail (TS 35).
*10052101 00 External hinges.
10050402 00 Grounding strip.

* 10089152 00 Mounting plate.

Lid 220/217+
206 /200.6+
183/177.6*
O — 2
Ey i m] r
i ’ i
RS !
:‘ 8 B (| :
1
L
220/218* -
204
193
(—, :
)
1 1
" ﬁ | "
[a] Ny 1 o
s M6 ) N [ )
© &9 - e Ll @
] i gl=
— <, ! -3 =
! @
3 ! ¢
183/182+ i @
211/209 ¢
T
A
Base

* = Conical form tapering downwards
Free dimensions-tolerance to GTA 13/5 DIN 1688

Cylinder screw
M#6x35/10
similar to DIN 84

118 (iotal height)

61
20
1.
s b To
® —g . ®<:=p
>
L‘—s
=
13 15
4 110 4

{max. fitting height}

01123608 00/85

External Dimensions: L 360 x W 120 x H 81 mm

Page 1-3,5

Standard Features

* 10093134 00 M6x25 Stainless steel captive combo
head lid screws.
+10093117 00 M6x10 Copper ground screws.

Accessories

*10093162 00 Safety Lid Screws
10093263 00 Allen head lid screws
*10052034 00 External Brackets
10061444 00 Terminal rail (TS 32)
10061454 00 Terminal rail (TS 35)
*10052101 00 External hinges
10050406 00 Grounding Strip
+10089153 00 Mounting Plate

le 360,/358.6* * = Conical form tapering downwards
346 /344 5* free dimensions-tolerance to GTA 13/5 DIN 1688
323/321.3+
Il
< =¥a)
)
AR : P
YRR ! \p
23s ' 24.9
il 5 2 JR 1 e |1 S
NN i Cylinder screw
NMERS E M6x25/10
Qw : J(@ similar to DIN 84
< o)
T
@ 81 (total height)
360,358+ - 51 20 .
344 20
333 I
f3 :
i
: P
* *
2o} ™ 1 * | * TO
- \_M6 ' r P llsie 0 P
GENEE MT‘QQ ol HO<
Q Q[ g
& 1 8= 2
- ©, I 2 - | -
| 6 IE
p "
323/322+ '
351;3494 Né’ " =
| 4 72 _ 4
Base - {max. fitting height)

17-10

The All-Around Solution




ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

01141409 00/85

External Dimensions: L 140 x W 140 x H 91 mm

Page 1-3,5

Standard Features

*10093136 00 M6x35 Stainless steel captive combo

Accessories

*10093262 00 Allen head lid screws
* 10052034 00 External Brackets
10061445 00 Terminal rail (TS 32)
10061455 00 Terminal rail (TS 35)
*10052101 00 External hinges

140/139*
126/124*

head lid screws. Lid 140/139+ *= Co_nical f_orm tapering downwards
10093117 00 M6x10 Copper ground screws. 126/124* Free dimensions-tolerance to GTA 13/5 DIN 1688
98/96*

Cylinder screw
M6x35/10

similar to DIN 84

10062014 00 Grounding Strip @ 91 (total height)
+ 10011027 00 Mounting Plat
ounting Flate 140/138* 61
120 20
110 1.
| b=
&8 h | o 412 N F z Top
2 \_M6 | i sl e
O3 o - HSS ® el 1 o<
3 | e 2
| EE
| i3
100799+ 13 |
131/129* 4 82 4
- (max. fitting height)
Base

01142009 00/85 External Dimensions: L 200 x W 140 x H 91 mm Page 1-3,5
Standard Features
10093136 00 M6x35 Stainless steel captive combo R
head lid screws. le 200/199* * = Conical form tapering downwards
+10093117 00 M6x10 Copper ground screws. 186/184+* Free dimensions-tolerance to GTA 13/5 DIN 1688
168/ 156*
- )
! o
5% | "’
Accessories I RE:S !
NS e S
+10093262 00 Allen head lid screws. RIGI= ! 24.9 Cylinder screw
10061445 00 Terminal Rail (TS 32). - : M6x35/10
* 10061455 00 Terminal Rail (TS 35). o ! similar to DIN 84
10052034 00 External Brackets.
10052101 00 External hinges.
* 10062015 00 Grounding Strip. @
+10011028 00 Mounting Plate. - $1 (total height)
200/198+ 61 3Q]
180 20
e 170 1__’__
7 i e =S
st b—pE—g
" ! " s o
E o My ME s v:\' S r@\{: & Top 3
O35 g fof-"mteeee- NNIG " 4 --tg| {1 o< 2
! > =
I ! o2 8 S s
! =TT -
6 ' sl g 3
| 160,/159% 13 11 S
191/189 ‘ < 4 82 o
- (max. fitting height) S
5
Base
@
For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-11



Aluminum Watertight

01161609 00/85 External Dimensions: L 160 x W 160 x H 91 mm Page 1-3,5

Standard Features

Lid 160/159* . .
10093134 00 M6x25 Stainless steel captive combo 1267144 * = Conical form tapering downwards
head lid screws. / Free dimensions-tolerance to GTA 13/5 DIN 1688
+10093117 00 M6x10 Copper ground screws. 115/113*
z : ~hn
) ] @ 5
AL = el
Accessories o(%|n ! 4.9
S O Cylind
+10093263 00 Allen head lid screws. 0| o ) ,\XGTZSEAOSUEW
* 10052034 00 External Brackets. S ) similar to DIN 84
+ 10061403 00 Terminal rail (TS 32). ® ) G(@ imrarto
+ 10061423 00 Terminal rail (TS 35). NZA : 9/
10052101 00 External hinges.
10052161 00 Internal Hinges. .
+ 10050404 00 Grounding Strip. ® - 91 (total height)
+ 10089106 00 Mounting Plate. 160/158* 71 20
140 20
130 1
—
3 ﬂ e rzrr= §
]
j ez __—*
I
* 1 *
i) - s (D 5 3
© 2ldd fi>2e L8 e © 2 Top
S ™ i S b sl ss |I§ © <
0 . ! 2l |0 .
- - o]
B d ‘A
b : a
120/117.6%' 13 5
151/148.6* o i
T
Base ! 4 82 4

(max. fitting height)

01162609 00/85 External Dimensions: L 260 x W 160 x H 91 mm Page 1-3,5

Standard Features

+ 10093134 00 M6x25 Stainless steel captive combo Lid 260/259* - Copical form tapering downwards
head lid screws. 246/244* | Free dimensions-tolerance to GTA 13/5 DIN 1688
*10093117 00 M6x10 Copper ground screws. 215/213*
7 : N
3
W | A4
- Sl i
Accessories Bl%|D ! 04.9
Sele M ;
+ 10093263 00 Allen head lid screws. ©¥ |0 ) aﬁ'”zd;;;gaew
+ 10052034 00 External Brackets. T S ! v "l DIN 84
10061404 00 Terminal rail (TS 32). W ) (K similar to
10061424 00 Terminal rail (TS 35). A T 9
* 10052101 00 External hinges.
* 10052161 00 Internal Hinges. 91 (total height)
* 10050405 00 Grounding Strip. 260Q>258‘ -
+10089107 00 Mounting Plate. / 71 20
240 20
230 1
1
! 7
* : * ™~] =
o] ) * D s “b
Ol o ~_M6 ) (s T A Top
© Y ger et RN @ ® H41--fc X 0O <
ol — ) O =
Ires 1 | 2|0 N
— ] -— bl
) @ %
b 1 5
220/217.6* 13 15
251/248.6* : ) 4 82 4
o {max. fitting height}
Base

17-12 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

01163609 00/85

A PHOENIX MECANO COMPANY

Standard Features

10093134 00 M6x25 Stainless steel captive combo
head lid screws.
10093117 00 M6x10 Copper ground screws.

Accessories

10093263 00 Allen head lid screws.
10052034 00 External Brackets.

* 10061405 00 Terminal rail (TS 32).
* 10061425 00 Terminal rail (TS 35).
10052101 00 External hinges.
10052161 00 Internal Hinges.
10050406 00 Grounding Strip.

* 10089108 00 Mounting Plate.

External Dimensions: L 360 x W 160 x H 91 mm Page 1-3,5
Lid 360/359* * = Conical form tapering downwards
346/344% Free dimensions-tolerance to GTA 13/5 DIN 1688
316/313%
1
72 N SN
i <
* % ! A
D@ ||« '
i < I I . = - (i
Slale , Cylinder screw
oF|® : M6x25/10
® ! J@ similar to DIN 84
(% ( (OJ T
T
[ - 91 (total height)
360/358* 71 20
340 20
330 NI
!
3 i E%
— ;
3 : 5(2 by To
29 o _,}M%“"_'_-_-_"_:_-, 2| 0) L~ - P
> 5 + S s ® <
e :1 i ?|| 22 >
1 G T“_)
" H s N
320/317.6* 13 15
351/348.6* 5 4 82 4
T s N
- (max. fitting height)
Base

01165609 00/85

Standard Features

+ 10093134 00 M6x25 Stainless steel captive combo
head lid screws.
+ 10093117 00 M6x10 Copper ground screws.

Accessories

* 10093263 00 Allen head lid screws.
* 10052034 00 External Brackets.
*10061406 00 Terminal rail (TS 32).
*10061426 00 Terminal rail (TS 35).
*10052101 00 External hinges.
*10052161 00 Internal Hinges.

* 10050407 00 Grounding Strip.
*10089109 00 Mounting Plate.

External Dimensions: L 560 x W 160 x H 91 mm Page 1-3,5
L,d 560,/559+
546/544* * = Conical form tapering downwards
515,513 . Free dimensions-tolerance to GTA 13/5 DIN 1688
<
}
>
—0 07 3
2% g ! :
8|38 l 24,9 2
D S e S |/ et S .
o|@|wo|w I o)
ol N @ ! - Cylinder screw
™ Mex25/10
@-\ o ; gJ similar to DIN 84

229.7/227.71 " |229.7/227.7

pr—" 91 (total height)
560,/557.5* ' 71 2
540 20
r 530 1]
g W ' .
« »9/: e N fzzzzres Top
o &, I * {00 | S| *
Jre] M6 ) - o llo{8|F &
= S o e S AU Y 1:: It R | "
© 5197 T Sls> ® o s O <
e ! o @[ [2 N 4
' —— 3
Al 7 s - ©
i 520/517.5* ] i3 5
551/6548.5+ N . .
Base . {max. fitting height)

a Jeuoisuawig

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-13



Aluminum Watertight

01181810 00/85 External Dimensions: L 180 x W 180 x H 101 mm Page 1-3,5

Standard Features

+ 10093136 00 M6x35 Stainless steel captive combo Lid 180/179+ , _
head lid screws. 166/164* * = Conical form tapering downwards
+10093117 00 M6x10 Copper ground screws. 135/133% Free dimensions-tolerance to GTA 13/5 DIN 1688
Iz : N
1
J 1 U4
1
Accessories 2|3k !
~ee ! 249
S o A 1 I T N ;
10093262 00 Allen head lid screws. % S g ' Cylinder screw
i
10052034 00 External Brackets. = ) I\_/IG?<35/10
* 10061446 00 Terminal rail (TS 32). T ! similar to DIN 84
* 10061456 00 Terminal rail (TS 35). W ' 8
10052101 00 External hinges. = T

* 10052161 00 Internal Hinges. 101 (total height)

* 10062016 00 Grounding Strip. . -—
+ 10011029 00 Mounting Plate. 180/178 71
160 20
I 150 - 14,
) e T
. < 0 o J B
© M6 ! T e o A s T
Tlg o ‘ 212 - op
O |2 qref------ [ el || @ ® #|---- s 1T <
Q ) o= ~
5] ) = |~ )
b ! hanl L 2
0 ! ] -
i & =
@ 1
140/138* \% 13 0
171/169* ' © 4 92 4
Base o (max. fitting height)

01182810 00/85 External Dimensions: L 280 x W 180 x H 101 mm Page 1-3,5

Standard Features

10093136 00 M6x35 Stainless steel captive combo

head lid screws. Lid 266/264*
* 10093117 00 M6x10 Copper ground screws. 235/233*

* = Conical form tapering downwards
Free dimensions-tolerance to GTA 13/5 DIN 1688

Accessories LN AN
~|elo
N T T .
10093262 00 Allen head lid screws. EIFIES ) Cylinder screw
*10052034 00 External Brackets. - [—|= , M6X35/10
* 10061447 00 Terminal rail (TS 32). = ! ) similar to DIN 84
+10061457 00 Terminal rail (TS 35). OW i (g
10052101 00 External hinges. S t
. 10252(1)?1 gg I(r;nernadl Hinges. 101 (total height)
*10062017 rounding Strip. x -
+ 10011030 00 Mounting Plate. 280/278 71 3q
260 20
i__ 250 =|. 14
' 2z
!
5 " ! i AR S 5
e o ! 3|3 @ © = Top
| ™ L | I R ol | 4|----- Fe. 4--K <>
© 517 | Sl 3
<] . =\~ 3
- I e 2]
I [ -
1 ’@ i p— A
<] ; =
240,/238* \Q 13 L 11
271/269* J © 4 97 4
Base - (max. fitting height)

17-14 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

01231011 00/85 External Dimensions: L 230 xW 100 x H 111 mm Page 1-3,5

Standard Features

+ 10093134 00 M6x25 Stainless steel captive combo Ll d 100/9&5‘* * = Conical form tapering downwards
head lid screws. . e
1009317 00 M6x10 Copper ground screvis. :;;243: Free dimensions-toferance to GTA 13/5 DIN 1688

=
43

*
Accessories 0 =
s
Jlale 24 /
’ QNI T
* 10093263 00 Allen head lid screws. a < [0 ' Cylinder screw
* 10052034 00 External Brackets. ~|L 1
R ™~ X MEx25/10

10061409 00 Terminal rail (TS 32).

n . ﬁ imilar to DIN 84
+10061429 00 Terminal rail (TS 35). ) ° similar to
*10052101 00 External hinges. 1

® -

*10052161 00 Internal Hinges.

10089110 00 Mounting Plate. 111 (total height)

91 20
-
20 | =
1 2
o
| @
ol O o é lg TOp
© 288 N[O © 4 {0 <
N
N
=
14 ] 15
5 101 4
. fitting heigh
| {max. fitting height}

Base -

01232011 00/85 External Dimensions: L 202 x W 232 x H 111 mm Page 1-3,5

Standard Features

* 10093134 00M6x25 Stainless steel captive combo Li d 202/200.5* * = Conical form tapering downwards
head lid screws. 187/185* Free dimensions-tolerance to GTA 13/5 DIN 1688
+10093117 00 M6x10 Copper ground screws. 166,/153

Accessories IFSER
(o3 B3 ITs]
Mo ley|—
. NN~ R
+10093263 00 Allen head lid screws ~~To Cylinder screw
*10052034 00 External Brackets (% =~ M6x25/10
10061410 00 Terminal rail (TS 32) N similar to DIN 84
*10061430 00 Terminal rail (TS 35)
*10052101 00 External Hinges
*10052161 00 Internal Hinges
* 10050408 00 Grounding Strip @ — 111 (total height)
i '
* 10089120 00 Mounting Plate 202/196.8* 21 20
180 20
170 1
P —
; ; et
5 : i - g M
9l ol 4| o M6 r o512 sl 4 & Top
© JFIFL Jer—1-pSHle © Jhor| o<
N | (B 2
3 BT K / >
| @ 3
» ! P s
160/157% | 13 15
192/189* @ 4 102 4
),' {max. fitting height)
Base

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-15

a Jeuoisuawig

sbuimel



Aluminum Watertight

0123201 External Dimensions: L 202 x W 232 x H 181 mm Page 1-3,5

Standard Features

+ 10093134 00 M6x25 Stainless steel captive combo Lid 202/200.5* * = Conical form tapering downwards
head lid screws. 187 /185* F di i -tol T, IN 1688
10093117 00 M6x10 Copper ground screws. / rce dimensions tolerance to GTA 135 D

155/153+

=
: . )
Accessories OG5
Q[
RIS E—
+ 10093263 00 Allen head lid screws. 3™8 | Cylinder screw
* 10052034 00 External Brackets. IR . M6x25/10
10061410 00 Terminal rail (TS 32). 1 similar to DIN 84
+ 10061430 00 Terminal rail (TS 35). te H o)
10052101 00 External hinges. T
10052161 00 Internal Hinges. .
+ 10050408 00 Grounding Strip. @ - 181 (total height)
10089120 00 Mounting Plate. 207 161 20
180 20
170 1
1
BN
H T Tt
8 N\
: [ a] 6 Dy x
o o + F[CPME N he - Top
®© goomoE R S v PPN O} ® g7 YO <
| o ! ol o' o~
; 218 s
ol -8
5 e
by ¥
160,/158* \% 14 L1
192/190* 5 170 (max. fitting height) 4
Base

01232811 00/85 External Dimensions: L 280 x W 230 x H 111 mm Page 1-3,5

Standard Features

10093134 00 M6x25 Stainless steel captive combo Lid 280/278.5% T Conical Torm tapering dowmwards
head lid screws. =Cor )
+ 10093117 00 M6x10 Copper ground screws. 266 /264 Free dimensions-tolerance to GTA 13/5 DIN 1688

236,/233*

Accessories 53_ A
2 —
RIEN
10093263 00 Allen head lid screws. E 0 Cylinder screw
* 10052034 00 External Brackets. g ~ M6x25/10
* 10061400 00 Terminal rail (TS 32). similar to DiN 84
*10061431 00 Terminal rail (TS 35).

10052101 00 External hinges.
10052161 00 Internal Hinges.

+ 10050409 00 Grounding Strip. ® . 111 (total height)
+10089121 00 Mounting Plate. 280/277* a1 20
260 20
250 1
|
3 ) ===
: e
~ “ o ~ " T
N M LT [l sl s op
o 4| o s =
© NSRS -------T-------*\Q(D © Az X O <
3 | 3| ~
o~ i olll = 0
I o L)
E | G ﬁ s
240/237* 13 15
271/268" o 4 102 LA
- {max. fitting height)
Base

17-16 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

01233311 00/85

External Dimensions: L 330 x W 230 x H 111 mm

A PHOENIX MECANO COMPANY

Page 1-3,5

Standard Features

head lid screws.

10093134 00 M6x25 Stainless steel captive combo

10093117 00 M6x10 Copper ground screws.

Accessories

10093263 00 Allen head lid screws.
10052034 00 External Brackets.

* 10061412 00 Terminal rail (TS 32).
* 10061432 00 Terminal rail (TS 35).
10052101 00 External hinges.
10052161 00 Internal Hinges.
10050410 00 Grounding Strip.
10089122 00 Mounting Plate.

Lid 330,/328.5%
316/313+
284/282*
:D * | %
o |2 |G
Nlev|[—
Q S|~
W<
l=le
IS
=
330/327+ =
310 =
300 ©
D
1 w
¢ ©
:
' *
5 | H IS
NEEERS ‘w T ° ~
Qm<:-N%Eo—----------}----——————-o- J @
o = | Lo i o 'S}
R ] i a1
5 = @
'Y |
289.5/268.5*
320.5/318* o
Base

* = Conical form tapering downwards
Free dimensions-tolerance to GTA 13/5 DIN 1688

Cylinder screw
Mbx25/10
similar to DIN 84

111 (total height)

91 20 _,
20
1.0
rzzreer N\
S22 s Top
© 41 o<
S
~
Q
M
5 o
13 L, 15
4 102 4

(max. fitting height}

01233318 00/85

External Dimensions: L 330 x W 230 x H 181 mm

Page 1-3,5

Standard Features

* 10093134 00 M6x25 Stainless steel captive combo .
head lid screws. i Lid 330/328.5* * = Conical form tapering downwards T
*10093117 00 M6x10 Copper ground screws. 315/313* Free dimensions-tolerance to GTA 13/5 DIN 1688
284/282+
w)
n - . J i I
ccessories ol |« 1 welll|
:5 2 3 | a9
+ 10093263 00 Allen head lid screws. N i Bt Cylinder screw
+ 10052034 00 External Brackets. Blx|e | M6x25/10
*10061412 00 Terminal rail (TS 32). N | similar to DIN 84
*10061432 00 Terminal rail (TS 35). ! o
+10052101 00 External hinges. A\ : —
*10052161 00 Internal Hinges.
10050410 00 Grounding Strip. @ - * 181 (total height})
i fe]
*10089122 00 Mounting Plate. 230 g 161 20
310 ey 20
300 o 1
. 2
3 ' EEER s s, a%
' : cozirzrrreieee R o
! & 10 ol N §.
r bt w 3
M6 i ol I= v - Top
Aeyd Frtt el Yo 0¥ flfi] o 3
[ — —| lo 1 o [fe) ~ (2]
* ol 18 s S
* L%
| o =~}
! G
b ; K !” D
289.5,/285.5+ 15 [l 15 Q
320.5/316.5* @ 6 170 (max. fitting height) 4 g
- =3
Base Q
(7]
For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-17



Aluminum Watertight

01234011 00/85 External Dimensions: L 400 xW 230 x H 111 mm Page 1-3,5

Standard Features

+ 10093134 00 M6x25 Stainless steel captive combo

! . 400/398.5* _
head lid screws. tid 38‘{/582* * = Conical form tapering downwards
+10093117 00 M6x10 Copper ground screws. Free dimensions-tolerance to GTA 13/5 DIN 1688
. 354 /3524
339.8/337.8*
Accessories ﬂ
il <

10093263 00 Allen head lid screws.
10052034 00 External Brackets.
*10052101 00 External hinges.
*10052161 00 Internal Hinges. 1 ff similar to DIN 84
* 10061407 00 Terminal rail (TS 32). = )

Cylinder screw
M6x25/10

230/228.6*
214/212*
197.8,/195.8*

* 10061427 00 Terminal rail (TS 35).
oeon ey 10
: 400/397* 91 20
380 20
370 1.l
L
b : 27
* : * *
™~ [™~_M8 1 r ™~~~ s by Top
Al <o S ! =2 0N [ h
o SgAsdg qer AN @ © H-S {0 <
(@) o i o @O s
bl ' Y BN ~
o~ P [ of| —gN Its)
BN : G "
b H s \
360/357* 13 . 15
390/387* & 4 102
Base -] (max. fitting height)

01234023 00/85 External Dimensions: L 400 x W 230 x H 225 mm Page 1-3,5

Standard Features

10093134 00 M6x25 Stainless steel captive combo

head lid screws. Lid "
+10093117 00 M6x10 Copper ground screws. | 400/398.5 S — i
384 /382* | * = Conical form tapering downwards
354/352+ ' Free dimensions-tolerance to GTA 13/5 DIN 1688

339.8/337.8*

Accessories

10093263 00 Allen head lid screws.
* 10052034 00 External Brackets.

* 10061407 00 Terminal rail (TS 32).
* 10061427 00 Terminal rail (TS 35).
10052101 00 External hinges.
10052161 00 Internal Hinges.

* 10050411 00 Grounding Strip.

* 10089123 00 Mounting Plate.

Cylinder screw
M6x25/1¢
similar to DIN 84

214/212*
" 197.8/196.8

230/228.5*

225 (total height}

® -
400 el 205 20 _,
380 g 20
0
370 i 1
L 0
@J | ’ W%’/éﬁ Top
I " = - — - ——
e ' Q
9l o < o L i g g : s - Obn
© 2SESgE"““““"T‘“’"""’" % ® ® gt 1 ©® <
Lo H e A o~
2 | 3 i2 s
5 i g
D
259.5/354.5¢ \Q 14 15
Base 389.5/384.5" @) 5.5 2145 4

- (max. fitting height)

17-18 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

01236011 00/85 External Dimensions: L 600 x W 230 x H 111 mm Page 1-3,5

Standard Features

* 10093134 00 M6x25 Stainless steel captive combo

head lid screws. . 600/598.5* - -
. Lid [ = Conical form tapering downwards
10083117 00 Mex10 Gopper ground screms. 582/580.8* ‘ Free dimensions-tolerance to GTA 13/5 DIN 1688
554 /552.8*
1)
- 7 SN
Accessories J i
o e |8t 5 x
e IS < ®
10093263 00 Allen Head Lid screws. @2 3 o4 o
* 10052034 00 External Brackets. N N - )
+10061408 00 Terminal rail (TS 32). =Y RS e Cylinder screw
* 10061428 00 Terminal rail (TS 35). R=- © M6x25/10
*10052101 00 External hinges. g similar to DIN 84
* 10052161 00 Internal Hinges. 1 o [s)
* 10050412 00 Grounding Strip.
* 10089124 00 Mounting Plate. ® - 111 (total height)
600 91 20
580
570
3 b @
& . s
le M6 r 3 © Top
ol 9| 4| & N Ly © <=
M) o
EEEEE slz| @
&=
-
4 £ =
560,558+ ! 14 . 15
588,/586* o 6 100 4
Base - {max. fitting height)

4011 00/85 External Dimensions: L 404 x W 313 x H 111 mm Page 1-3,5

Standard Features

* 10093134 00 M6x25 Stainless steel captive combo i *
head lid screws. i Lid 404/402.5 [* = Conical form tapering downwards

+ 10093117 00 M6x10 Copper ground screws. 386/384.2* Free dimensions-tolerance to GTA 13/5 DIN 1688
357.5/355.5

342.3/340.5"

7 N
Accessotries I
blalol l <
AL ! q,k-g
* 10093263 00 Allen Head Lid screws. g R N i_ Cylinder screw
+ 10052034 00 External Brackets. NP P | e S M6x25/10
+ 10061407 00 Terminal rail (TS 32). ) el ; similar to DIN 84 —
+ 10061427 00 Terminal rail (TS 35). I !
10052101 00 External hinges. L '
+10052161 00 Internal Hinges. j B o 111 (total height)
10050411 00 Grounding Strip.
* 10089131 00 Mounting Plate. ® 91 20
404/400.8+ ¥ 20
382.5 1
) <
d
; ' Z Sy
SO 1 M, : Y *
2| 9 [~ ' . f«’(\%l 2 ) Top
(= 3| -~
©8| Qg it Y s @ © -1 | 1} O
S| NA ' r [ s )
L) | < |9 ~.
- 3 1 N O 10
39} ) 5} ]
B I M
: F K 7 ol 5 N
362.5/359.5% &, 13 HI 15
270 (o 4.5 101 4.5
394.5,/392+ 1 {max. fitting height)
Base —

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-19

wig

olIsuo

d jeu

sbuimel



Aluminum Watertight

01314014 00/85 External Dimensions: L 404 x W 313 x H Page 1-3,5

Standard Features

. : ' A 5 i
10093134 00 M6x25 Stainless steel captive combo Lid 404/402.5 * = Conical form tapering downwards
head lid screws. 386/384.2* i i
+ 10093117 00 Ml6 10 Copper around screws . Free dimensions-tolerance to GTA 13/5 DIN 1688
x10 Copper grou WS- 357.5/355.5%
342.3/340.3%
H *
Accessories bla ? .
g I .
— ol | Cylinder screw
10093263 00 Allen head lid screws. Q Q NN M6x25/10
+ 10052034 00 External Brackets. L) [T} £ R similar to DIN 84 __
10061407 00 Terminal rail (TS 32). 5 |& (l:l
10061427 00 Terminal rail (TS 35).
*10052101 00 External hinges. 141 {total height)
*10052161 00 Internal Hinges.
10050411 00 Groun_ding Strip. ® ZE) 121 - . 20
+10089131 00 Mounting Plate. 403 | E 20 g
382.5 E 1 h
< ~ by
: N s e R
b d i b V5
) ~ = -= - -- -4
) I
l Jte]
dde N wé‘ ! N g Top
— )| Mol o . I -
O &Y i g o © O<
\ =)
| Q
\ 15}
i :
: T
362.5/358* \Q 14 15
370 o & 129.5 4.5
391/386.5% (max. fitting height)
Base )

01314018 00/85 External Dimensions: L 404 xW 313 x H Page 1-3,5

Standard Features

+ 10093134 00 M6x25 Stainless steel captive combo
head lid screws. Lid 404 /402,5*
*10093117 00 M6x10 Copper ground screws. 386/384.2%
357.5/3565.6*
342.3/340,3*

* = Conical form tapering downwards
Free dimensions-tolerance to GTA 13/5 DIN 1688

Accessories

+ 10093263 00 Allen head lid screws.
* 10052034 00 External Brackets.
10061407 00 Terminal rail (TS 32).
10061427 00 Terminal rail (TS 35).
*10052101 00 External hinges.
*10052161 00 Internal Hinges.
*10062011 00 Grounding Strip.

Cylinder screw
M6x25/10
similar to DIN 84 ..

313/311.6%
206/293.2%
276.8/274.8%

237,236+

181 (total height)

*10089131 00 Mounting Plate. @ 161 . 20
404 bt 20 e
382.5 1 k
~ —
N -3
? N T =
: B LN
!
Y5 . o> Top
| oy 12 ° ! MR Oven
48 pr eSS @ © oy o<
o~ ! N
( <+ O
I NN
! !
| 1
362.5/358.5* &, 14 H 15
370 ' 4 [ 169.5 4.5
Base 394/390* (max. fitting height)
=

17-20 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

01314023 00/85

External Dimension

A PHOENIX MECANO COMPANY

Page 1-3,5

Standard Features

+ 10093134 00 M6x25 Stainless steel captive combo
head lid screws.
+10093117 00 M6x10 Copper ground screws.

Accessories

10093263 00 Allen head lid screws.
* 10052034 00 External Brackets.
10061407 00 Terminal rail (TS 32).
10061427 00 Terminal rail (TS 35).
10052101 00 External hinges.
10052161 00 Internal Hinges.
10062011 00 Grounding Strip.
10089131 00 Mounting Plate.

@
313

Lid 404/402.5 ‘ :
- * = Conical form tapering downwards
386/384.2 Free dimensions-tolerance to GTA 13/5 DIN 1688 |
357.5/365.5%
342.3/340.3*
7! : N
|
L ) ! \ 2
(NG 8 | )
ZIR IR , ¢ Cylinder screw
~N L RS
RIS M M6x25/10
SRl ! 16X
hea b ,‘Q ~ ) similar to DIN 84
M| N |
S |
e 227 (total height)
® 207 W k20
404 b 20 =
382.5 1 ~
1 ,g A3
[ ; 2
1 : 5 i
oo e 5 Top
Il | S N M e |
& o & oy S|® ® ®<
! =
k. S
1 1 5
|
363.5/360.5* &, 14 11 15
370 o 5.5 216 4.5
Base 3315,/388.50 {max. fitting height)
=

01316011 00/85

External Dimensions: L 600 x W 310 x H 111 mm

Page 1-3,5

Standard Features

10093134 00 M6x25 Stainless steel captive combo

head lid screws. Lid 600,/598.5* * = Conical form tapering downwards
* 10093117 00 M6x10 Copper ground screws. 582,/576.5% Free dimensions-tolerance to GTA 13/5 DIN 1688
] 554/548.5% N
L]
KJ N M
Accessories 5ol ) 2 %
o I I lad
ol Kied o~ [ee3
Q0|8 . o .
+ 10093263 00 Allen head lid screws. SR Q Cylinder screw
+10061408 00 Terminal rail (TS 32). 2 3 M6x25/10
+ 10061428 00 Terminal rail (TS 35). o N similar to DIN 84
+ 10052034 00 External Brackets. L
10052101 00 External hinges. b
* 10052161 00 Internal Hinges. 111 (total height)
* 10050414 00 Grounding Strip.
+ 10089132 00 Mounting Plate. ® - 91 . 20
800 20 s
580 1l Q
. ] . 5 s
b 2 _7_;'_2'.2‘_1 2 ah
Q 1]
P 7 wte [
dodg e Y |2
= (2] P 7 S - -
©m£g91 + ; SSS® © ® « S
' |5 |@ _ D
1 NN =
1 (7]
H m I = S
; ‘ 135 3
560,/556* | k} 14 - 1)
' © 6 99.5 4.5
570 yor - o
588,586 {max. fitting height) 3
Base = s
5
Q
(7
For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-21



Aluminum Watertight

01606020 00/85 External Dimensions: L 600 x W 600 x H 202 mm Page 1-3,5

Standard Features

+10093081 00 M6x45 Stainless steel captive combo
head lid screws.
*10093117 00 M6x10 Copper ground screws.

Accessories

*10061413 00 Terminal rail (TS 32)
*10061433 00 Terminal rail (TS 35)
+10089136 00 Mounting Plate

Lid 600/597.2% .
582 /580.2* * = Conical form tapering downwards
546/544.2“‘ } Free dimensions-tolerance to G"TA 13/5 DIN 1688
1 ~
L)
24
x |x |
SIGGY =)
~lo |« s
@00 |+
W |© |0
NN N
QN g
(=3
@ [ |0
Cylinder screw
© M6x45/10
similar to DIN 84
®
600 -
555 202.5 (total height) )
530 40
250
2 EJ
\ - ° o
\_M6 o«
\) =
F - * -
\ P ol %10 L §  Top
0| w| ©| Y| N 1 P | ]
2358 = & §3§;® ® = R ©<
v 0 [0
F frairs]
D
'?/'q B a
9
© a O
2 VY7 II7TIIIIITI
535 & 17 s
852 /547* V')C)‘ 6 189 (max. fitting height) 5
588 /583*
Base -

17-22 The All-Around Solution



ROS

E+BOPLA

ENCLOSURES

6018 00/85

External Dimensions: L 600 x W 310 x H 181 mm

A PHOEN

IX MECANO COMPANY

Page 1-3,5

Standard Features

10093134 00 M6x25 Stainless steel captive combo
head lid screws.
+ 10093117 00 M6x10 Copper ground screws.

Accessories

+ 10093263 00 Allen head lid screws.
* 10052034 00 External Brackets.
10061408 00 Terminal rail (TS 32).
10061428 00 Terminal rail (TS 35).
* 10052101 00 External hinges.

* 10052161 00 Internal Hinges.

* 10050414 00 Grounding Strip.

* 10089132 00 Mounting Plate.

Lid

600/698.5*

582/576.5*

654 /548 5%

310/308.6*
202/286.6*
234/228.6%

%)
43

264/268.6*

* = Conical form taperin

Free dimensions-tolerance to GTA 13/5 DIN 1688

g downwards

Cylinder screw
M6x25/10
similar to DIN 84

181 (total height)
® 161 * |l 20
800 - 20 z
~
[_ 580 41 h1__ 3
1 : B L3
: /&’ s
0 1
N 1 #*
ol o| 2 ‘%‘ < i ol 518 é Top
AR gt SISO O #1 o<
o Q1o
H <+~ g
A , NN
; M
y :
560/556* \% 14 135
570 < [ 169.5 4.5
588/584* (max. fitting height)
Base >

01061200 00/85

External Dimensions: L 115 x W 64 x H 34 mm

Standard Features

10093132 00 M4x20 Stainless steel captive combo
head lid screws.
* 10093116 00 M4x7 Copper ground screws.

Accessories

* 10093091 00 Allen head lid screws.

Lid 115/114%
105.5/104+
g 88.3/86.8* 13.6
— e : D
) |
* | % :
* (M0 |
MDY
(ARG D F N S
RN N i
@ || M !
0 O)'L_‘ I
N \ %
S | ?
® 115/114* -
1056.5
89
M4 37.8
32 ™|
te!
Y : o
b I s
» |'Q H ©
M@ . )
© N ) S S -- 37 -t ®
<+ |00 1 . ~
QI ' © ]
[le] : 5 %
3 ! Va
18 s
30 9.4
108.8/107.5*
Base :
]

* = Conical form tapering downwards

Free dimensions-tolera

nce to GTA 13/5 DIN 1688

Cylinder screw
M4x20/7
similar to DIN 84

25.5

84.7/04.4%
{
0

@
03
[

(277777777

IS

e

o

29

34.5
(total height)

2.5

(max. fitting height}

wig

olIsuo

d jeu

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-23



Aluminum Watertight

External Dimensions: L 185 x W 64 x H 34 mm

Standard Features
10093132 00 M4x20 Stainless steel captive combo Lid 185.5/184.6%
head lid screws. 176/174.5+ | * = Conical form tapering downwards
+10093116 00 M4x7 Copper ground screws. Free dimensions-tolerance to GTA 13/5 DIN 1683
] 1568.8/1567.3* 13.6
& e .
7 : )|
% ! &
P i
A N » * * 1
ccessories th B «x |
O~ R N
PAARN T
+10093091 00 Allen head lid screws. o 2 X
Ny | ) 5 Cylinder screw
3N ! ,; M4x20/7
- similar to DIN 84 __
®185.5/184,5" -
175.5 . 345
165.5 : (total height)
M4 102.6 2 255 9
85.3 <
e
1
1 2 E%
5|2 i & N Top
@ - .
© 9|8/ g fld---dbommfoom g b b5 @ © 4 <@
<’ |@ | ! ~
O ' © i
° : Pk |
: £ =)
72.5 g 14
160.5 9.4 3 29 2.5
Base 179.3/178* ) (max. fitting height)
]

17-24 The All-Around Solution



